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SGK TOÁN 7 TẬP 2 - ĐẠI SỐ


Đề bài
Cho các đa thức:

           A = x² – 2y + xy + 1

           B = x² + y - x²y² - 1.

Tìm đa thức C sao cho:

a) C = A + B;                             b) C + A = B.

Hướng dẫn giải

Ta có: A = x² – 2y + xy + 1               B = x² + y - x²y² - 1.

a) C = A + B

C = (x² – 2y + xy + 1) + (x² + y - x²y² - 1)

= x² – 2y + xy + 1 + x² + y - x²y² - 1

= (x² + x²) + (-2y + y) + xy - x²y² + (1 - 1)

= 2x² - y + xy - x²y²

b) C + A = B => C = B - A

C = (x² + y - x²y² - 1) - (x² – 2y + xy + 1)

= x² + y - x²y² - 1 - x² + 2y - xy - 1

= (x² - x²)  + (y + 2y) - x²y² - xy + (-1 - 1)

= 3y - x²y² - xy - 2
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